Mathematics Revisionmn Exoercisess

Factorisation

Fully factorise the following by taking out the COMMON FACTOR; -

a) Za+2Zb

d) 3IxFTtbx

g} 4pg<-pq

JY 1Oxy2-Sxy+3x2y

b} 3x+Fa c)  dab+a
g) 3Itan=2x+b6tanx ) 3a=b-a=
h) 7aZx+2ax+ta i) 100p=2-50
k) m2n+n2m 1Y apy—ay

Fully factorise the following DIFFERENCE OF TwO SAUARES; -

a) xX=-y=

d) 25a=-p=
g) S0p=-180g*=
i) k=E-(pqg)=
m) (a-b)=-100

Xz_xe

=)

oF PRE-y= c) XE-Qy=

e) 8ip=-28x= ) 100y=E-121x=

h) Sp=2-5m= i) 64r=-9

k) a=-1 1y 3-3x=

m 1-tp-g)= o) cE-tath)=

o) £k r) 48tan®A - 3tan®B

Fully factorise the following RQUADRATICS;-

) X2E+Tx+2
d) xX=+2u-3
Gy x=-4u+3
3) 2x=4T7x+3
m} 4x=+8x+3
p) &x=+41u—-7
s) 12%x=+22x~-14
v) ExE-15x-9

V) 2x34+HxE+bH

b}  wE+4u+3 c)  HERTXH10
el HE2+u~b + HZ~Tu+10
hy  x2+9x+18 1) x¥=+x—-20
k) Zx=+5x+2 1) 4xZ+7x+3
Ny 3IxE+11x~4 o) 6xF+11x—10
q) BxF-8x+2 ) Z2O%E+4u-7
t) OuZ-FOn+14 w)  xE-4x-5
W) 19xZ2+10x-3 X) F-bu—-3Ex=
z) B-2x—-3x=
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